Lees, tel en teken de lijn!
<(=naar links), = (= naar rechts), T(= naar boven), {(= naar beneden)

start °

6> > 10T —» 21— 2T —{ 32— 3T > 12— 1l
2> 2 1T 12— 1L 2> 1T —» 12> —» 2! —»
6 —» S5\ —» 6>—» 8l —» 1< —» 51 —» 1< —» 5l —»
1< > 5T —» 2 5l —» 1< 5T —»f 1< —» 5l —»
1€ 14> —> —> —> —> —> —>
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Antwoord

Lees, tel en teken de lijn!
<(= naar links), = (= naar rechts), T(= naar boven), {(= naar beneden)

start

6= 10T 2t 2T | 32> 3T 12| 1l >
2= P 1T 12— 1L —» 2> > 1T —» 1> —» 2]l —>
6 —» S5l —» 62> 8l —» 1< —» 51 —» 1< —» 5l —»
1< —» 5T | 2« S5l - 1< |— 5T —» 1< —» 5| | >
1 —» 14> —> —> —» > —> —>




